Intro to Similarity March 07, 2018

2 polygons are SIMILAR if their corresponding
angles are congruent and the lengths of their
corresponding sides are prop\g\rtional.

Given: AABC ~ ADEF
Show that the lengths of the corresponding

sides are proportional A .S -
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The common ratio of /3 is called the SCALE
FACTOR of AABCto ADEF

(also applies to £ cimater)
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Angle-Angle Similarity Postulate

If 2 angles of one triangle are congruent to
2 angles of another triangle, then the two
triangles are similar

A X

B AASC ~ X2 \oEI AR

Side-Side-Side Similarity Postulate
If all corresponding sides of two triangles are
proportional, then the triangles are similar

X
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B aC = BC  Yhe (e
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Side-Angle-Side Similarity Postulate

If the lengths of two pairs of corresponding sides of
two triangles are proportional, and the angles include
between them are congruent, then the triangles are

similar
A X
Yy Z
T¢ Xy X2 oy SAS.

Explain why the triangles are similar, then find DE
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Maggie was standing outside and noticed that a 20
meter flagpole cast a shadow 25 meters long.
Nearby was a telephone pole that cast a 35 meter
shadow. How tall is the telephone pole?
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The altitudes of two equilateral triangles are in
the ratio of 2 to 3. The length of a side of the
smaller triangle is 12 cm.

Given that the area of an equilateral triangle can
be found using the formuld A = l52\/5 find the
4 ‘
ratio of their areas. ,
T = (3
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